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(Honours Core)

Paper : COM-HC-3016
( Computer Applications in Buéiness )
Full Marks : 40
Time : Two hours

The figures in the margin indicate
full marks for the questions.

1. Choose the right alternative : 1x4=4

i) Which of the following shortcut
command is used to print the active

document ?

(@ Ctrl+P

(b) Alt+P

(c) Ctrl+ Shift+P
(d) Ctrl+Alt+ Del

Contd.



(ii) Portrait and Landscape are : 2. Answer the following questions in brief :
2x3=6

(a) Paper Size
(i) What do you mean by transition in MS

(b) Page Layout PowerPoint ?

(c) Page Orientation (ii) What do you mean by ratio analysis ?

(iii) What is Field and Record of a database

(d) None of the above
table ?

(iii) Which view of PowerPoint is mainly
used for rearranging slides ? 3. Answer the following questions : (any two)
5x2=10

(a) Slide Sorter
() What are Header and Footer ? Write

(b) Notes pages the steps to add header and footer on
a page.
(c) Outline
Y (i) Write about the Home tab in MS Word.
(d) Norm :
(iii) What is database ? Describe its utility.
;i L . . 2 't E :
(iv) Which of the fc.)lloglngllps the basic uni (iv) Define cell referencing. What is relative
of data entry in BXCEl: and absolute cell referencing ?

(a) Spreadsheet
4. Answer the following questions : (any two)

(b) Cell 10x2=20
(c) Column () What do you mean by a digital
presentation ? Describe different parts

(d) Row of the PowerPoint Window.
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(i) What is word processing ? Describe the
advantages of using word processing
software.

(ii) Describe about the Entity- Relationship
Model (E-R Model).

(iv) Describe how to prepare payroll
statement using spreadsheet.
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2023
COMMERCE
(Honours Core/Regular)

Paper : COM-HC- 3026/COM-RC-3026
(Income Tax Law and Practice)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x7=7

woe Al eMERe Mo O o ¢

(a) The present Income Tax Act came into
force from the year

(Fill in the blank)
TG ST SN2 519 # PRI
2 | (3T} 912 97 F1)
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(b)

(c)

(d)

(e)

The term “Salary” has been defined as

per section ___ of the Income Tax Act.
(Fill in the blank)

MERIMB AT AN 59 4=

SE | (31T 512 547 71)

The maximum deductions from gross
total income of an individual as per
section 80C of the Income Tax Act, 1961,

is Rs (Fill in the blank)

GG GG TP TR #I91 SF S2oq 80C
Y919 ST A o ol |

(371 912 95 1)

Previous year has been defined under

section of the Income Tax Act, 1961.

(Fill in the blank)

SIS 3T e 7RG 939 g

frat C=em | (T} 212 %7 )

An Indian citizen is always considered
as “resident and ordinarily resident in

India”. (Statement is true or false)
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(9)

Answer the following questions :

& SRR ARSI A =i et
ifrmr’ 3 Sl T |

(Cf&eh! &% (7 S5% GeEi<l 331)
Income Tax is charged by the Central

Government. (Statement is true or false)

TS (G T HIFIE AT FJ |
(Cf&To! ©F (¥ o5 GEgd 1)

Rate of Statutory deduction in case of

Income from house property is
(Fill in the blank)

52 i o[ Riftore v9a g7 == |
(3T} 312 93 1)

2x4=8

oo Wl TR T ferdl ¢

(@ When an individual is considered “Non-
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resident in India” for Income Tax

purposes ?
TG (TS TEFIR CTRE (IO SIS
s gfE oifReliTe s e
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(b)

()

(@)

Write the meaning of “Total Income” as

per Income Tax Act.
SIS SR SR o SwT e Bt |

Explain the meaning of Long term
Capital Gain.

IS e SR o iR < |

Define “Assessee” as per Income Tax Act,
1961.

RS S 1961 SRR T I e
et |

Answer any three of the following questions :

ox3=15

Ricerza fofab! e Tag foall ¢

(a)

(b)

Briefly explain various heads of income.
w179 [fon Mo o3t 0 F4 |

Mr. K is the owner of a house property
which is let-out by him at a monthly rent
of Rs.3,200 p.m. The following
particulars of the house are given below :
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Mr. K 5! 95 Wi RG1 czse 3,200 5hit
oot fafes | TR S KEPTR 8

(i) Municipal Valuation (MV)
Rs. 30,000 p.a.

(*Ti9 FUE 30,000 p.a.
(ii) Fair Rent (FR) Rs. 45,00C p.a.
i el 45,000 p.a.
(iii) Standard Rent Rs. 40,000 p.a.
TWF Tl 40,000 p.a.

(iv) Municipal Taxes paid during the
previous year Rs. 3,000.

(TR ST ~E<e€1 35 3,000

(v) Fire insurance premium paid
Rs. 600 p.a.

SR SwiE 600 p.a.

Determine his Income from House

property for the assessment year
2023-24.
£023-24 3 AT € AR 263 =

ol 31|
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(c)

(d)

(e)

Explain the manner of determining the
residential status under “resident and

ordinarily resident in India”.

i s FiRe A e SR PR 2
e =31 ~1afs it 54|

Mention the items of General Income
under the head “Income from other

source”.

S TR 2R (ZRT S o Srege A
AR G 1

Define “Agricultural Income”. Give
examples of incomes which are related

to land, but are not agricultural income.

PRIGS SY e o1l 1 G 4<eI] SR Twigaet
wife 4@t Rz $R ol @re T=IF AfFere

RIS ST Y 72 |
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4. Answer the following questions : 10x3 =30

Teq SIS Bes fordlt ¢

(@)

(b)
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Describe briefly the procedure of
ascertaining the income under the head
“Profits and Gains Business or
Profession”.

A 31 I 1 (R ST’ oS S Il
TR Awfe T 741 |

Or (712d1)

State the deductions available from

gross total income under section 80C of

Income Tax Act, 1961.

1961 5% TIPS A2< 80C 4NN WIS
BoteTd T TTFOR R *1 (TR A
T F

Explain the process of setting off of

losses and their carry forward as per

provisions of the Income Tax Act, 1961.

Contd.



(c)

WA IR 196 1 549 RAFPRR SRpiR Eieee
setting off W% (2(AS carry forward I
A@oF I T4 |

Or (71231)

Briefly explain any five forms of return

of income.
N ST Rz 750! T3 S3C 11 <41 |

Mr. R is employed in a private limited
company in Kamrup, Assam. During the
previous year he received the following

payments from his employer :

Mr. R 5o, SPE GO e @=iiqre
3T | A€ T2q© (w8 FEEFER o
Resrengz stizfea (rewz RBore) 3

Basic Salary Rs. 15,000 p.m.
3@ WZfE vawet 15,000 5
Dearness allowance Rs. 8,000 p.m

TR A6 T2 8,000 Fa
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Entertainment allowance Rs. 1000 p.m.

M- Nf2f 6 1000 5=t

Servant Allowance Rs. S00 p.m.

eI 6 N 500 5

Bonus for the year Rs. 70,000
A5 AT A6 70,000 B
Commission received 35,000 p.m.

si1e SfE54 35,000 5

Free furnished accommodation was

provided to him which the employer paid
a rent of Rs. 6000 p.m.

(O&T TG 4! T 7T Tl T2t IR
AR AR Mz 6000 Tt ©re sAf{eiy
Ffafes |

Employer’s contribution to R.P.F. @ 15%

on basic salary.

Contd.



Fige AfeTes Fws R T6i3 3= wewze
82O 15% e s |

Compute his income from salary for the
relevant assessment year.
PRI e <59 A (o =R SR
RIERSERE T

or (A1)

Mr. Bora had purchased a residential
house property on 16.06.2004 for
Rs.2,20,000. He had spent Rs. 1,50,000
on improvement of the house during the
year 2008-09. On 04.10.2022, he sold
the house for Rs.21,50,000 (Stamp Duty
Value Rs.20,40,000). His expenses on
transfer amounted to Rs.36,000.

Compute the ‘Capital Gains’ for the
Assessment Year 2023-24.

fil. 382 16.06.2004 w@iF¥w 2,20,000 Tt
7S b1 WP zr~ife T sl
2008-09 57© B& SRMH! THTeIEF AT (@
1,50,000 5 192 3RfReT | 04.10.2022 Wifkeal
($¢ T& W[FTHE 21,50,000 5 ¥ew Rad)
et 79 (R wiie Bt RS 3o wifes
20,40,000 T | 705! THIG M ($67 <95
2f%5 36,000 54 |
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3 [T 98 2023-24 I 41 7S e 41 |
Given, frafes,

Previous year Cost Inflation Index (CII)

(st <) (T Farife i)

2004-05 113
2008-09 137
2022-23 331
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2023
COMMERCE

(Honours Core)
Paper : COM-HC-3036
( Management Principles and Applications)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

1. Choose the correct answers to the following
questions : 1x5=5

(i) Henry Fayol and F. W. Tailor belong to
which of the following schools of
management ?

A. Neo-classical

B. Modern School
C. Classical School
D. Early Perspective

Contd.
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(iii)

(iv)

As we go higher up on the management
hierarchy the scope of authority :

A. Increases
Decreases

B.
C. Remains same
D. None of the above

When recruitment is done through
Linkedin, Twitter, and Facebook is

known as

A. media recruiting
B. external recruiting
C. social recruiting

D. internal recruiting

is the process of influencing

the behaviour of people by makjng them
strive voluntarily.

A. Supervision

B. Communication
C. Leadership
B

Motivation
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v)

Which of the following is not a principlc
of Fayol’s Fourteen Principles of
Management ?

A. Division of Work

B. Harmony, not discord
C. Discipline
D

Unity of Command

State whether the following statements are
true or false : 1x5=5

(i)

(i)

(ifi)

(iv)

“The length of two sides of a triangle
when added is always higher than the
length of the third side” is a principle
because there is a cause-and-effect
relationship.

A plan to carry out a course of action
that is not likely to be repeated in the
future is known as a Single-use plan.

Chester Barnard is associated with the
development of “Theory X.”

Interest rates, inflation rates, and stock
market indexes are examples of political
environments.
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(v) Management is a goal-oriented and
continuous process.
Answer the question in brief : 2x5=10

(i) “Management is a Social Science”—Give
two justifications.

(ii) “Jewel is the owner of a printing press.

The size of his organization has

increased during the recent past.
Several workers work in his
organization. The organization is
considered good and has earned a lot
of reputation in the market. However,
when it comes to making key decisions
related to organizational activities, he
never consider the opinions of his
subordinates. Even though the size of
the organization has increased he tries
to make all the key decisions on his

own.”
Which principle of Fayol has been

violated by Jewel ? — Justify.

(iii) Write a brief note on “On-the-Job”
training.

(iv) Write the steps of controlling.
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(v). List out the hierarchical needs as
mentioned by Maslow.

Write short answers to the questions given
below : (any four) 5x4=20

(i) “Coordination is the essence of
Management”—Discuss.

(i) Describe the Delphi technique of
decision-making.

(W) Explain five features of management.

(iv) What are the problems generally faced
in the process of Delegation of
Authority ?

(v) Describe how the political and legal
environment influences the business
enterprises.

(vi) Explain the qualities of a good leader.

Answer the following questions : (any four)
10x4=40

() Explain the 4 rounds of studies
conducted in the Hawthorne
Experiment. What are the major
conclusions of the Hawthorne
Experiment ? 6+4=10

4 (Sem-3/CBCS)MPA/G S Contd.



| (viii) Explain the concept of Break-even

(i) Define Planning. Explain the steps Analysis. State the merits and
limitations of Break-even Analysis.

involved in the Planning Process. :
+6=
AN 4+6=10

(i) Explain the process of Organising. Also, |
describe the factors determining the
Span of Management. 5+5=10

(iv) Critically examine Herberg’s Two
Factor Theory of Motivation. Are there
any similarities between the theory and
Maslow’s Need Hierarchy Theory of
Motivation ? 8+2=10

(v) Discuss the features of decision-
making. What are the steps involved
in the decision-making process?
—Explain. 5+5=10

(vi) Discuss the importance of
communication in a business
organization. Differentiate between

formal and informal communication.
5+5=10

(vii) Critically examine Taylor’s contributions
to management science.
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